414t gl [J.ﬂ[ Aol 21
CULTURAL 1QRA ACADEMY

syall (usela

44

2015 et didd} (5315001l | st

m} )p%u)ﬂ\) jwl )S«;J J&w Jl& 7
M}wdv@)\%w}wﬂ . f) \/J\M ‘E‘WV\Q L}f\*v\P

B cmars Lol
Aol et

(Sl Tyl Gl

0772194518

sl 5 SV ¢ 8T gms I B o 1 Lol ¢ oy 1S 5o 51 131 e 50 Lol




[ Unit 11 Future technology VVYNAEONA KLl e + el slas) smygall uygln ]
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e e A
Built for safety

Skl s Jud J eE BV s el e sl oYy oy s g oA
Road tunnels, mountains or under rivers and seas, make car journeys shorter and faster. Some
gl Sy Jo G5 7 {0 | PP CI LA RV Lo din P
of the long tunnels, like those through the Alps, were engineering achievements
e /' 3 Y e JU e e W ks b e a4 o
when they were first built. For example, the 11 kilometers - long Mont Blanc Tunnel between
Lip oy Wl sl sl gate s K s M sl om
France and Italy. Which was opened in 1965, massively reduced journey times between the two
R N B S L e e B @ o) S el SWY) ElE NI

countries. But in recent years, with the increase in [freight traffic| using tunnels, there have been
oA dadadl) slgd!
some terrible accidents.

W L Oshlsdl 1 Osmoncy Yio o jashS Jisy S8 3 pud L s
So when planners were designing the 24.5 kilometre Laerdal Tunnel in Norway, safety was
e /w}! v.ébLMA\ gl e J oA o3l oL L )l Jalsal) géh

one of their main concerns. People have known for some time that the main factors which
e ol g Akl WY el s Logpainds” = Ol o dxledl 3 e Olblew
cause accidents in long tunnels are tiredness and claustrophobia —a fear of being in small spaces.

Drivers can easily fall asleep in tunnels because the never changes —there is nothing to
keep them awake|.
s Seoeop JI @l e o LS ol JI = EPTORY Npex
This can lead to accidents caused by vehicles driving into the sides of the tunnel. So experts,
e 2 U P Py P B P Ny eSE e \E aass M
including psychologists, did research to find out how they could make the 20 — minute journey
P INIRE LTS Ul N5
through their new tunnel less monotonous.
iy )l lg) 3 O e s g ) el o olels Lo
After experiments, they decided to build the tunnel in four sections w1th “halls” between them.
ol ) el o ) sl s g :\.;\5- selo) Al -
The halls are wider and higher than the main tunnel and have special lighting similar to a
AN 5,5 O oBldl Ogw Ogiy VU Lits 0935k g oleldl
sunrise. The idea is that drivers will feel refreshed as they drive through the halls.
oWl g o i Olagpe o OLYI 1B asg ol e ekl Lol
The halls have two other purposes related to safety: if there is an accident on the road ahead,
Bl S JIREAN o ol 334a)) Gk Lyl &l oy Lo olies 3
drivers can turn round in the halls and return the way they came. There are also lay-bys in the
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ol o cnailudl v+'~<‘~ b g3l 9 a1l Japy v Loy e Jles 498

halls where drivers can stop and rest. The Laerdal Tunnel also has an efficient ventilation
el s i) el g N Loy -

system which responds to the amount of traffic in the tunnel. Air pollution is monitored by
Sl Soudl cag

staff in a control room.

4 yLuall G y154]1 iliaul

(wllhall 93152 lavsle alhl)

1. Road tunnels have two benefits related to car journeys. Write down two of these benefits.
00 sl a3 (ye il i) ) lead) A g cpihat e a3 pall ) gl

2. There are some differences between the halls and the main tunnel. Write down two of these

differences.
DAY s38 (e (i) ) A 1) (B e )y CEMERY) (any 2a o

3. Write down the sentence which indicates that a certain number of road tunnels were extremely

unusual achievements.
ARl dple e ol jla) S 5 hall (3L (e (ama 220 (Ol G S Aleall S

4. Find a word in the second paragraph which means "what can be seen from a place"
"ud&wqbosgu"@mﬂ\gw& Caal

5. What does the underlined word "they" in the second paragraph refer to?
A 58l 8 an 1 dad L ) AWK A i L )

6. According to the text, the writer thinks that monotonous journeys cause drivers to fall asleep.
Explain this statement, justifying your answer.
Sl )58 lall 038 iy o 51l () 58 g il Jaad dlaall @3la I Gl (ol ey ¢ paill i

B. Critical Thinking

Fast transport such as road tunnels ensure growth and development in modern countries. Think of
this statement and, in two sentences, write down your point of view.

i A g ) llan A 8 ial) ol S8 Aol oLl ki g 3 5u5 5yl (i e Aag yud il il

(9 3aloil— gjalail)  ilolall gl

Find a word in the paragraph which means: (i palll A ALK e S

Jlpall Jall il

unbelievable incredible G ¥
cut down / shortened reduce Ji

stop (someone) from going to sleep keep awake L A
lorries and vans carrying things, not people freight traffic ) LS je
what you can see from a place view bl
L s lal2Il pa Ly daly gl
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T

What does the underlined word " ....... " refer to? b Lghad Al A 4yl el e )
Jlgall dlt
those long tunnels
lo¥laysall They long tunnels
which long Mont Blanc
Their planners
Bl sl them the main factors

which drivers
they experts

allll daall their experts
they experts
eyl & ypall them four sections
they drivers
they drivers

Rualdl ayaall where lay-bys in the hall
which efficient ventilation system

a1 Lal2 1 pa L sl oLl

alaladl

1 | Make car journeys shorter and faster.

2 | The halls are wider and higher than the main tunnel and have special lighting similar to a sunshine.

Some of the long tunnels, like those through the Alps, were incredible engineering achievements

3 | when they were first built.

4 | view

5 | experts

6 Yes, because drivers can easily fall asleep in tunnels because the view never changes -there

is nothing to keep them awake.
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G el VY alsha (3 i cuige B8 JU Jue e e Y i Letie Baual Y dpatia Sl el Gpdiel ¢ Y Jos
ASja A Bl mas B a Y sl 3 oS0 aldl G 0l et se e s ) B Y40 8 aalil 5 gl ¢ Lllayl g L b

Aagadl) Gl gall aey @llia S GAY) aladiuly el

38 Ayl agilalaial (e saa) g Aadlad) CulS g yill A e LS YE 0 algha (g3 oY (385 () seanay ¢ shhdl (S Laie 13
oo casall ) dlleall CRLY) a5 el o Al ghall Sy 6 Caalgad) Gt ) G 1) ol g2l () B gl Gand Ll Gy
bt agl8Y ¢ & Alia Gad Il iy Y il oY GUY) 8 A sen ¢ sling 38 ) 8Ll (5_ua Clalise 3 2l 5l

alag Byl 15 pa) Gl elale agad Loy ol ol o8 Gl g3l s ) s CilS all Lgaaads 1) ) saldl ) o o Sy 128
Al J8 apaal) Bl e 488 Yo JiAls ) Jead () oSy 3 44y Ll

3.»453;1*4‘\‘_;‘:szwm*gwsj\ésﬂ\wéci}&u_giﬁbw\L@.\:u" QL::U"&A?M‘&UJ‘@&SJ\ ;L\J\j)ﬁu‘)u\m‘g
Dlelall ae agilS je ()93 58 ab 5 GEIYL (5 pady Co g Ll ) & BSAl 5 uedd) (35 Al dgnd

o Bl 83 el s el L 5] apiSas sl sl e Cala dllia IS 13 Al ety o AT ol 2 clelill
o 5 Al aal Limgd 13y (385 A )5 i ) (i) ey s el a il Gy SLaT Limg) llia g Lot el
ASaill A8 e 8 cpals ge JiB (e sdea ) ay (g sl gl 5 31 B 5 pall AS ja laal Cuaiiny

(Jadas)

s P e e85 ok 85 e
Juall -
Dl el et -

) dlgd e
il BJM\ ) ey Jad -
ol -

30 JsY iy Ladie: sl Y dguia @l il &ptie) ¢l Jua ue ) @l i ¢ Al ghall BY) (iaxy @
Aagadll ) gl Glany @llia cilS Y aladinly (el AS ja M aas e

b Ay ohal) (PN (o i) gal) G (Al A ) Jalgal) O gl Glard Gl e BT o
Q-

(b lalie b aal 6l (e Casall) Aalaad) (LY Gla 5 -

e aglaY s o3 llin Gl I i Y laial) (Y LYY A A seas o sliy 38 8L -

s ) (34 g el 38N @
el (35 ) At dala elin) Sl (5 sty o)) R -

Al ey o) AT Gl clelilly o

A ) sela A Gyl 52 sall 5 el 85 15inY) agiSa sl 3ol Jle ala dllia IS 1Y) -
Anl 5 a8 gl (pilall ety Cam el b el Cagis Sl Liad Gllia s -




[ Unit 11 Future technology VOO Gl mar - adablshas) msgall asele J

dylyall dliaul g4 dayg
R sk ¢ Jad Losly S
Recent developments in transport technolog
,\}))&N\ o)
Online booking
B 17 S L L - L R N
The cheapest and quickest way of buying train or airline tickets is now to book “online”
da Joi Jemes Jeadl U <SRy Al ) & aslb K
This involves logging on to the Internet, finding the correct website, typing in your travel
<l P beasid) ol Y 2 oksyl wlsy e N O
requirements and personal details and paying by credit card. P assengers can then print a
Loy sl B el 05 53 ) G @ bl g el ilas KPS

receipt which may also be the tlcket WhICh they show at airport or railway station. This is all

r’i' Ll Ja - €T 7 s Juast e Okl ol ikt &3S

done automatically without the need for any personal contact with the airline or rail company.

@Yl &
Eurotunnel
@ Yaat 38 Loy Wl e i) A L) sl J Cnibolgl lda
In 1994 atunnel linking Britain with the mainland of Europe opened to the public. This
Aial P sl bl g3 s J Ll J e Slgia ekt
complex and costly engineering project, which had been planned for many years, was paid
She o s, dl g aslay ey S <Ll Mot e aas Soolals &
for jointly by the French and British governments. Cars are carried on railway ftrucks| which
s K85 e AR 5 i glas J W Ul /m 4ids Leal>,
from a train called the Shuttle, and then drive off at the end of their 35-minute journey
s ) & 6.9&\ .L;-jj\ Ji.u’ J el u_m\...u oss 3Ll LS'H S

through the tunnel. In the past, the only alternative for motorists was a ferry, which took a
- <—
SV e AR
minimum of 90 minutes.

SN (R T
Electronic road tolls

Chdl sl ot O S Bl Je o agudi Gl 3 Ul cass P plladl Sl g
Motorists have to pay to drive on motorways in Italy. Under the original system, all cars had
gl e dlast 3 aly o e a2 el s oY
to stop at kIOSkS at the beginning or the end of a section of motorway and pay cash. Now
there is a hlgh tech alternative called Telepass. Under this new system, cars are ‘recognized’
KGNy Y oeede ot L3l 3ea) RECH W W o Kool i oLl

so they do not have to stop. The money is taken automatically from each drivers bank account.
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. There are some steps to book online. Write them down. S g S jaall i gladl) jamy clllia

2. According to the text, the writer thinks that Online booking is faster and easier for passengers.
Explain this statement, justifying your answer.
el 3 kel o2 ia s (g plisall Jgud 5 & sl Ly SN Jaadl Gy IS iy ¢ il Uid

3. Eurotunnel is a joint project between two governments. Write down these two governments.
OftesSall (pily SIS (g & e g 5 e 9 () 5Y) (B4

4. According to the text, there are three recent technology in transportation the text has mentioned

them, what are these three recent technology?
Nl Aaal) CLED 238 o Lo il Laa jS3 28 Bl gally (Blaty L Aaa LS CO a5y caaill i

5. Write down the sentence which shows that using motorways in Italy is not free.
Ul o) Wyl b Ay ol 3Ll alaiial o i 31 ALl i)

6. Find a word in the paragraph which means: (sl paill (B AL e danl
Ul paadl Jall JEWN
the study and knowledge of technology L 5l 9SS
travellers Passengers (2 Aluae
vehicle trucks S e
3N LK e dash 5aa) 5 iy

7. What does the underlined word " " refer to? L Lgtiad Al Sl 4l Hadi e )
J) sl Jal)
which receipt
S Al | which ticket
they passengers
which engineering project
AL 5 jadl which ra?lway truck
their railway trucks
which ferry
43 5,88 | they motorists
Al LY (e dadd gaa) g elaly

1. This involves logging on to the Internet.

2. Finding the correct website.

1 | 3. Typing in your travel requirements and personal details.

4. Paying by credit card.

5. Print a receipt which may also be the ticket which they show at airport or railway station.
Yes, because this is all done automatically without the need for any personal contact with the
airline or rail company.

3 | French and British governments

4 | 1. Online booking. 2. Eurotunnel. 3. Electronic road tolls.

5 | Motorists have to pay to drive on motorways in Italy.
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Ay 5 g ) gaal
New Zealand / The final challenge
Sia Yder Iy Gl da G slel dos B Al
Until 1953, nobody had climbed Mount Everest, the highest mountain in the world. Then
@ YdoY Lalidia Jlald) 23 gad LSJM 9 ‘_JLL\.J\ Al LSL‘:)}‘ | BN @
in 1953, the mountaineer Edmund Hillary and the Nepalese Tenzing Norgay succeeded in
Jgoaa 510 Al ‘55 A Gl el dlia oS Al caw @l il elly Ly

reaching the . In the next thirty years there were other Everest firsts', including the

dsh 2de sl ds) Gl Jdge 3l
first JI8 climb and the first climb by a woman.

S e¥m Ul s bl glas sl 1 aaceld e gl o8 sl e Jlall iliia
All these people had taken bottles of oxygen to help them climb, but many mountaineers

) 93l Alaall peddioe Baplall a8 Osx eSO e e¥s 1 GS Al gy
wanted to climb using their natural ability, without oxygen. Two of these were Reinhold

Dhae 5 iw sbda 3)1AVe Leglh Sl ol o bl aomdle din de sala
Messner and Peter Habeler. In 1975, they amazed people by climbing Gasherbrum, the 11"

el da G plall Osn oS
highest mountain in the world, without oxygen.

Ledie  iwe 5 bl gy hladdll 10 Gl cwdl gen sl oAl
When Messner and Habeler started planning to climb Everest without oxygen, other

Osilude g0 aa el Al s aa e) oY) Gl e Al o)
climbers called them foolish. They warned them that the oxygen levels at the top of Everest

CailS fas Acasdia diny o) el G S8 Laaa g o Jdaoll e ey jlaal  elaall
were so low that breathing would be difficult, and that the men would  risk brain
Gl 13 L W g eldaey Gl 50 il oy 5 Ll o

damage if they did this. However <Messner and Habeler did not listen, and made their first

pey glaa o by YAVA 2 u.\L.us Jals Lty oS )8 el..\sl\ -5 Al
attempts in April 1978 .After two , they nearly gave up, but decided to make a final
attempt.

Sleoed laa Aaaldl clels,Y) ae il (e €Y1 & o) gl f o JS Ja gl 4y ) sald (3 yaiad

At these very high EUG[E, with so little oxygen in the air, everything the men did took
Jdshl e el K Ayl uls ey OSeia 5 (pohmadal )l

much longer than normal. Every few meters, they fell down Sttt and had to rest.

Ll @ s Yelae 3 JW A NAVA L e 5 Jhila ol dsh sy
Eventually, at about 2 pm on May 8th 1978 <Messner and Habeler became the first men to

Say a8 G dl e uausY)
reach the summit of Everest without oxygen.
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x> ol® ... d29gin9 d> use dliwl

What does the underline word " \‘, " refer to? " bd Lghan Al Al puds il )
Jlgall dalt
them All these people
their mountaineers
these mountaineers
they Reinhold Messner and Peter Habeler
them Messner and Habeler
they other climbers
them Messner and Habeler
they Messner and Habeler
their Messner and Habeler
they Messner and Habeler
they Messner and Habeler
AL LI ga Lis il Lyl
Find a word in the paragraph which means"/ " galll A AalS e Gyl
Iy
Top of a mountain summit i
) alone solo S
heights altitudes glai))
Extremely tired exhausted 3R
Lack of success failures Ja
4050 ALaY) A s ALl cilalSl) (ya i Baa) g

.

What does the underlined word ' " mean? e "hd Lghad A dalSl) s il
Jyd — [ g [ e |
summit Top of a mountain 4ad
3

solo alone L 9
altitudes heights gl )
exhausted Extremely tired R e

failures Lack of success Jad
40 el ALy A elali A8l cilalSl) o JaBh Baa) g

In 1953, there were two mountaineers / climber succeed in reaching the summit of Mount
Everest. Who are they? — flea (e o il 4ad () J gea ) (8 Laas cpilacie ellia oIS V40Y IS Gle

Write down these two climbers?
€ opluiall o (S) a8l A8 1 e ) 8 Lo Cansyadl 1 0 A il ) Glllia S 130 ey

. After 1953, there were other Everest 'firsts' succeed in reaching the summit of Mount Everest.
5

Write down the sentence which indicates that no one succeed to reach the summit of Mount

Everest before 1953. V40T U8 syl Al ) Jsaa sl (8 eat aa) ¥ adly 5 ) Aleall (S
There were two mountaineers amazed people by climbing mountains without oxygen. Who
[ arc they? flan (e g s Juall sl Ll Sadl pilode cllia oS
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without oxygen. S 053 o Gl 1)) Gl ()l S dlead) )

Some climbers warned Messner and Habeler of two things when they started planning to
climb Everest without oxygen. What are these two things?
0l (1aa Laa Lo ans il (lasil Iapladilly oy Ledie (i (g Dbl 5 s 153 Gpildiall mmy

Write down the sentence which indicates that Messner and Habeler did n't take the advice of
other climbers. );\2“ u.\slsm.d\ M Livaay (J )L.:LA 9 e o A;J\ u’_\l\ alaaldl ua..xﬁ\

According to the text, the writer thinks that climbing Everest without oxygen is very
(NI dangerous. Explain this statement.
3okl 028 i g lan Hlad a5 G HA) (Bl (L iy IS (il d

Write down the sentence which indicates that Messner and Habeler did two unsuccessful
(VA attempt to climb Mount Everest.
ol lodl cpiiaall jee ol e LB Hlala 5 e gl el Al Alead) )

According to the text, the writer thinks that what Messner and Habeler did took much longer
than normal. Explain this statement.
3okl o2 g alinall e skl U85 B jaiad Hlila 5 siene 43 al8 Lo b GalS) aiay (il L6

14 Write down the sentence which indicates the first two climber who get to the top of Everest
| without oxygen. Sl (5 a8 A I Sy (pailidie J o) (Y S A Alaad) o)

a>dg0ill O LBV
Edmund Hillary and the Nepalese Tenzing Norgay. Seos il il 5 s )3 25
‘ The first solo climb and the first climb by a woman. Byl 0 (e 4dlisia 5l 5 3 e (Blusia )

n Write down the sentence which indicates that two climbers wanted to climb a mountain

10

Until 1953, nobody had climbed Mount Everest, the highest mountain in the world.
Al 8 Jas el e 5 Qi s aal Y V40 Lo s

‘ Reinhold Messner and Peter Habeler. Dlula 5 yiene

When Messner and Habeler started planning to climb Everest without oxygen.
LSl () 5y Cany ) Ll apdadll oy Hlla 5 e Ledie

1. They warned them that the oxygen levels at the top of Everest were so low that breathing
would be difficult.
ra O S el ) Cua laa CilS Aiaddie Co i) Aad e V) S glie () (e a5 50
2. That the men would risk brain damage if they did this.
A lad 131 e laal) Gl jladd ¢ sy Jla W ol
10 However <Messner and Habeler did not listen, and made their first attempts in April 1975.
NAYVe Gl (A4 glae Jol el Liay ol Slula 5 e lld aay

'H

Yes because the oxygen levels at the top of Everest were so low that breathing would be
1 difficult and the men would risk brain damage if they did this.
A lad 131 elaal) CRlil) ladl ¢ sua e
After two failures, they nearly gave up, but decided to make a final attempt.
Al A gl Lagiy o)) )58 o0 Ll o 10K il il glaa day
’ Yes, because at these very high altitudes, with so little oxygen in the air.

'-

13

,;\}QJ\ (;3 Jals CraSY) daalill Clelas Y oda A_Ar.: oY card

Messner and Habeler became the first men to reach the summit of Everest without oxygen.
LCnnsS) (G 9 oy JA) 4 Slay s J ) sl Slils 5 e

14
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(donsd) laillsjeui / gilaill gasull

fiai Sl 5 o gl Jall il 1907 de 2 el b dis o) Can ) i 3L aal Y ) 90 e ia
o J5) s 8 Ly ctmm 8Y cpppal "5 7 s (IS A BN ) giad) 3 Al I gl B L sl 5
31a) (e Bl sl 5 2 ki

Loal ) Jladl Jiluia cja el oK1 caladll e aanelud A1 aailY) G glail agaa | 9341 38 ) IS (alA V) oY 58 OIS
u&u‘\}hﬁ\\avoeb‘;)&MQ)SM}MJX}MJ\)JSC‘«Y‘}QL)AUM\uﬁ&uls\u‘jm‘w\ﬁ‘)lﬂwﬁmw‘
OeS) g alladl (8 sle e VY daadl o Hale o Legilsiy

Gl siae O 0 o 5oy ealls aa sed 5 A O siludia CpanSY) Gy iy Bludl Tashaatl) T Jlula 5 e Ledie
alill sl gca jaitie Cagu Ja )l Ol Laa (680 (o g (uatil] () Cuay laa diaddie S G il A e eV
O 138 (bl (il glae ey VAVA Gl 3 Lagi slae Il Lld 5 Linay ol Jlila 5 jisse Glld ey 13gr Ll 131 2Ll

Baa) Al glaay aliall ) ) 8 Lag ST Laludioy

S Aieall (e Jshal U5 (5 yxind Dlal 43 8 L S ol sgll 8 cpumnSY] (o hain (M ae AiaLE clelii Y1 o3 e
5 ohe VAVA U e A b lelaa 1Y Aeludl a8 ol uals Aalll ke 5 (pSagie olkibn U al dacay
S O 933 Qo B Al ) OBay (s J sl sl Hlila

(Jalas)  laityjons / giledll gassll

S 8 Aad ) J gea sl A s cpiladie Jg) (le s adaidl) ) 5 (o2 2isadl) Jual) liude V40T ale o
Glb 8 Ly oo 8V Al Al " s Gl AN A% G gl A e

) (3% Cang A I J g ) 3 Lt cildia J) (Gl i) 5 (siaase 253 ) sl lilie o
) 53 el b e e 1) Jiadl cam e Ui Lagdlac (1 1la3 Y AVO e i

(0m a9l g el an se s Al O siluie a5 ) Bludl bl Ty Jluls 5 i Leic o
Lira 5 680 (8 g Tl G Cluan aa Aaddie CilS Caay i A8 e eV Gl gl ) )
Jagr Lal 1) 2 Leall Calil Jladl () um yais Cigas Jlall ()5 LY
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| The passive  Joaaedl gl |

| s8]l 515901 aouill casun Jamaoll geisoll gle dy15]1 dlicul bigei
1. Rewrite the sentence (cilole V) (dloal dilis daslel)

Shakespeare wrote Hamlet.
Hamlet ...

2. Correcting the verb between brackets. (gmriolle V)  (guaugdll gu Jadll pgnaavi)
Fewer accidents would be ................... by drivers. (cause)

(S) V) 0)
Ali  built the house.

0) V) (S)
The house was built (by Ali).
(S+V+0) sl s 5 o (active voice) pstrall A dlas o(Cud) e ) oY) 3l &
(O +V+(S)) sl s 55 o (passive voice) Jseaall 4t dlas (Ao adand) g (A Cadl) 201 Alaal) &
Lagias Jasusy DAL 5 Sl il s (Shend (ilenl) 38 ¢
@dlaall ol AV the house 4 dsxiall e S AL deldll e oIS Gl 38 55 o) Jaadl SV dlaal) 8 ]
oo 5n 5ol Al e S liagy Lo iy Cull S Liagy Y e Jelally el

daall gl al¥a ¢ Ali Jeldll e JiSI the house 42 Jsadall e IS Eaadall 38 55 o) a0 450l dleal) 8 2
Lot 3B llia () Liagy Le iy Jelall S0 Liagy Y ety J smialls il

Jsena Jelill S 13 ) Jelill S (a5 ol 131 (gl el (o i Limg) padiias 1

My money was stolen (2585 )
Liaa Cag y2a d.cul\QS\S\W@A#\@J@@;\Q;JM&N\Q\S \J\dwﬂ@.\d\uﬁf\aﬁ;\em 2
The thief was arrested (U=l e (a8

@\@s@aﬁ\»wﬂw%ﬁu@

Jaasoll gisoll gl osleoll gizoll o Ju1gaill Joaa

adaal) 00 Active voice (psedl ) Passive voice (Jsall i)

mﬁ)iﬂ‘ﬁt) S +V2+ O O+ was/were +V3+ O2+by+S
P?)Smngiggs S +was / were + Ving + O | O +was / were being +V3+ 02+by+S

P [s+had+va+o O+ hadbeen  +V3 + O2+by+S
(F;r)efig‘t;{lg?jg S+ modal +V1+0O O+ modalbe  + V3+ O2+by+S
(:ia"\ggii‘) S + modal have + V3+ O | O + modal have been + V3+ 02+ Dby +S

MODALS: can, could, must, have to, has to, had to, shall , should, will, would, may, might

(V3) AL ity e Lol Jpmaoll dlos 8 gausisll Jall gllang




[ Unit 11: Talking about processes VVYNAEONA A5l e+ odallslas ssgall ‘,.),&]

el il 9| gl JoRa) ) o plitatll (gl | 0 (il

Ll ga3 3yl Aleall (4 J gniall + Jadll + Jelill) Aleall yoalic saa |
bl Jgandl 3 i se 58 LS Jadll JSE (DA (e Lol gai o) yall Alaadl (e j 20a
oasaay a5l a3 8 gl iaall Alla 8 Aeal) (S8 i el il
cJseaall Sl ales (8 Jeldl) S35 )5 pally ud

\

Y
v
¢

lw 1,55 lo go ezl al pog sl bzl

. Ali built the house
(active) asles S) V) 0)

©O© Pi——

. The house was built (by Ali)
(passive) Jsgae 0) V) (S)

1. Nada built the tunnels.
TR TUNNCIS .o e e

The tunnels were built (by Nada). v
The tunnels were built. v

2. They should pay much more attention to safety.
Much more attention .............coiiiiiiiii e
Much more attention should be paid to safety (by them). v
Much more attention should be paid to safety v

ls o3

Lasa Lo sl scgsall 9515901 aouill cossn asigiio gt locs

Josaall @Il ggleall osa &I Jaadl Jga

1. They made the halls wider than the rest of the tunnel.
Thehalls ...

2. Technicians fitted them with special lights.
3. They could ventilate the tunnel better.
Thetunnel ...

4. Drivers would cause fewer accidents.
FEWEE QCCIURNTS ...t e,

5. The government will have constructed the new railway by 2015.
The NeW raillway .........coooiiinii e

6. 1 do not have to feed the birds every now and then.
The DIFAS ...
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7. Nada was helping Kamal.
KAl ...

8. Nada was helping Kamal and Nora.
Kamal and NOKa ..o

9. Ali had helped her.
S

10. Nora will have helped her friends.
Her friends ...

11. Shakespeare wrote Hamlet.
Hamlet ..

12. Kamal will invite us to the party.

13. We had suggested a new idea.
ANBW IABA ...t

14. Two horses were pulling the farmer’s wagon.
The farmer’s Wagomn .........ouiiirii e

15. The president will have made the announcement.
The aNNOUNCEMENT ... e,

16. We won the match.
TE MNALCN oot

17. Everyone will blame us.

18. Nora was writing the letter.
ThE Ot er e

19. The salesman was helping the customer when the thief came into the store.
THE CUSIOMET ... e

20. Ali had repaired many cars before he received his mechanic's license.
VLY S .ottt e e et e e

21. Someone may finish the work by 5:00 PM.
TREWOIK .o

22. They will have completed the project before the deadline.
TR PrOJECT ..o e

23. Nada can cook Mensaf very well.
MBNSAL ...




[ Unit 11: Talking about processes VVYNEONA ALl e - el slas) ssgall (39l ]

24. The police arrested the thieves.
Thethieves ...

25. You must format a hard disk after it is partitioned.
Ahard disk ...

26. Rita wrote a letter.

27. Rita had written a letter.
A BB e,

28. Rita will write a letter.
YA\ (=] 111 S

29. Rita can write a letter.
YN (< 11<) S

30. Rita was writing a letter.
A LCter .o

31. Rita would have written a letter.
JANg (=] 111 S

1. People saw smoke coming out of the forest. [2011]
SIMOKE L

2. The government must save the historical sites. [2011]
The historical SIteS .........ooiriiiiiii i

3. The farmer must water the plants in order to grow. [2012]
The plants .......ooiuiiii

4. Hatem should send the car to the garage. [2012]
The Car oo

5. The gardener should water the flowers. [2013]
The flOWETS ..o.veii e

6. The patient must take the medicine on time. [2013]
The mediCIne ... ..o e

7. Stress can cause heart disease. [2013]
Heart disease .........ooiriiiiii i

8. Samer must fill in the job application form. [2013]
The job application form .............ccoiiiiiiiiiii e,




[ Unit 11: Talking about processes VVYNAEONA A5l e = odallslas ssgall ‘,.),&]

9. Everyone must save the natural resources. [2014]
The natural reSOUICES .......ovvriiiii it i

10. Children mustn't leave bicycles in the driveway. [ 2014]
BiCYCIES . .utiiti e e
11. parents must not give tMchildren everything they want. [ 2015]
Children ...
| Jadll panaasi |

O+ was V3 + by + S

V3 Jdaalapl Al (7)o adis Al Jud¥l saabis ydle £ Al Bus 13 2 dpbl dlia o

Jaaslosi
1. The hallswere ........... wider than the rest of the tunnel by them. (make)
2. They were ................ with special lights by technicians. (fit)
3. The tunnel couldbe ......................... better by them. (ventilate)
4. Fewer accidents would be .................... by drivers. (cause)
5. The new railway will have been ................. by 2015 by the government. (construct)
6. The birds do not havetobe ............... every now and then by me. (feed)
7. Kamal was being ................... by Nada. (help)
8.Shehadbeen ........................ by Ali. (help)
9. Hamletwas ..........ccceeenennn. by Shakespeare. (write)
10. Anewideahadbeen ...........................l. by us. (suggest)
11. The match was ...................... by us. (win)
12. The letter was being .......................... by Nada. (write)
13. The thieves were ................ccoeennee by the police. (arrest)
Yo V€ dyl5901 dliaul
Different goods among countries canbe ................... by traders.  (transport)

1. The halls were made wider than the rest of the tunnel (by them).
2. They were fitted with special lights (by technicians).
3. The tunnel could be ventilated better (by them).
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4. Fewer accidents would be caused (by drivers).

5. The new railway will have been constructed by 2015 (by the government).
6. The birds do not have to be fed every now and then (by me).

7. Kamal was being helped (by Nada).

8. Kamal and Nora were being helped (by Nora).

9. She had been helped (by Ali).

10. Her friends will have been helped (by Nora).

11. Hamlet was written (by Shakespeare).

12. We will be invited to the party (by Kamal).

13. A new idea had been suggested (by us).

14. Farmer’s wagon was being pulled (by two horses).

15. The announcement will have been made (by president).

16. The match was won (by us).

17. We will be blamed (by everyone).

18. The letter was being written (by Nada).

19. The customer was being helped when the thief came into the store.
20. Many cars had been repaired before he received his mechanic's license.
21. The work may be finished by 5:00 PM (by someone).

22. The project will have been completed before the deadline (by them).
23. Mensaf can be cooked very well (by Nada).

24. The thieves were arrested (by the police).

25. The hard disk must be formatted after it is partitioned (by you).

26. A letter was written (by Rita).

27. A letter had been written (by Rita).

28. A letter will be written (by Rita).

29. A letter can be written (by Rita).

30. A letter was being written (by Rita)

31. A letter would have been written (by Rita).

1. Smoke was seen coming out of the forest.

The historical sites must be saved.

The plants must be watered in order to grow.
The car should sent to the garage.

The flowers should be watered the flowers.

The medicine must be taken the medicine on time
Heart disease can be caused heart disease.

The job application form must be filedl in.

The natural resources must be saved.

10. Bicycles mustn't be had in the driveway.

11. Children must not be given everything they want.

© 0N UA®WN

1. made 2. fitted 3. ventilated 4. caused 5. constructed
6. fed 7. helped 8. helped 9. written 10. suggested
11. won 12. written 13. arrested

transported
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I (B) & 53l 241311 1351 Jlzaull |
o)l ioll diwl lnos

Complete the following mini-dialogue using an expression that shows agreement, and write the
1 | answer down in your ANSWER BOOKELT.

Nada : | think that Mr Mustafa Salameh is a great person.
N O A & e

Read the following mini- dialogue carefully, then answer the question that follows, and write the
answer down in your answer booklet.

Nada : | think that Mr Mustafa Salameh is a great person.

Nora : | agree.

What is the function of Nada's Statement? .eceeeeeeerereeeeiieennereeeeennnne

Jlgall

T AU Jgaad) (a1 llall (65050

slgall

Giving advice

For me the golden rule is this ....
If you do this .......
Remember some of these tips ....
The best way is to ....
Do not forget, .......
In my experience, .............
In the end, you will be more successful if ......
Another useful tip is this ......

Comparing and
contrasting
il 5 45 l84))

.On the other hang, .........
in comparison with ..........
because ......
less ....
more .... than ...

Explaining a choice
O] i

| would take the ...... because ....
We really need the ...... to+V1....

Presenting argument
Jlan i

Would it be a good idea to take ....?
It might be a better idea to take ....
If we don't take the ...... might happen
| don't think that is a great idea.

Agreeing / agreement
488 ga

| agree
Yes, you are right
Okay, | see what you mean.

Disagreeing /
disagreement
4 gall a2

| do not agree
But | do not agree
| do not think so
We would ever use the ....
Why do not we leave the ..... and take the ..... instead?
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2015

Read the following mini- dialogue carefully, then answer the question that follows, and write
the answer down in your answer booklet.

Rashed : Don't forget to take your coat in case it rains.
Nora : | will.

What is the function of Rashed 's Statement? .....eevieiiiiiieririeieiiennneeeenns

2014

Complete the following mini-dialogue using an expression that shows agreeing, and write the
answer down in your ANSWER BOOKELT.

Mabha : It might be a good idea to take first- aid kit during our journey across the desert.
AdNan ..

2011

1. Complete the following mini-dialogue using an expression that shows disagreeing / disagreement and
write the answer down in your ANSWER BOOKELT.

Mabha : It might be a good idea to take first- aid kit during our journey across the desert.
AdNan ..o

2. Complete the following mini-dialogue using an expression that shows disagreeing / disagreement and write
the answer down in your ANSWER BOOKELT.

A : | think that Mr Mustafa Salameh is a great person.
3. Complete the following mini-dialogue using an expression that shows giving advice and write the answer
down in your ANSWER BOOKELT.

Muna : | have got a bad toothache. What should I do?
NUha &

4. Complete the following mini-dialogue using an expression that shows agreeing / agreement and write the
answer down in your ANSWER BOOKELT.

Maha : The amount of sleep human beings need varies from individual to individual.
ANAN & L

5. Complete the following mini-dialogue using an expression that shows disagreeing / disagreement and
write the answer down in your ANSWER BOOKELT.

Mabha : The amount of sleep human beings need varies from individual to individual.
AdNaN & L

6. Complete the following mini-dialogue using an expression that shows agreeing / agreement and write the

Complete the following mini-dialogue using an expression that shows agreement, and write
the answer down in your ANSWER BOOKELT.

A: | think that Mr Mustafa Salameh is a great person.
B

sspanll g0l baorill ssu Gy dlial




[ Unit 10: Useful Language SVYNALONA B s ¢ adall sl wygall ageld }

answer down in your ANSWER BOOKELT.

Maha : The cheapest and quickest way of buying airline tickets is how to book "online"
AdNAN ©

7. Complete the following mini-dialogue using an expression that shows disagreeing / disagreement and
write the answer down in your ANSWER BOOKELT.

Mabha : The capital city of a country is very often its greatest city.
AdNaN Lo

8. Complete the following mini-dialogue using an expression that shows agreeing / agreement and write the
answer down in your ANSWER BOOKELT.

Maha : The capital city of a country is very often its greatest city.
AdNAN L

1. Read the following mini- dialogue carefully, then answer the question that follows, and write the
answer down in your answer booklet.

Mabha : It might be a good idea to take first- aid kit during our journey across the desert.
Adnan : | agree.

What is the function of Adnan 's statement? .......ccecvvieieininiieinininennn.
2. Read the following mini- dialogue carefully, then answer the question that follows, and write the
answer down in your answer booklet.

Muna : | have got a bad toothache. What should | do?
Nuha : The best way is to visit the dentist.

What is the function of Nuha's statement? ......cccecvviiiieiniieienrnenennnn
3. Read the following mini- dialogue carefully, then answer the question that follows, and write the
answer down in your answer booklet.

Maysa: | think that Mr Mustafa Salameh is a great person.
Nora: | don't think so.

What is the function of NoOra's statement? .eeeeeeeeeeeeeeeiiieeneeeeeceeennnnss

FOLAT.COM
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[ Editing Writing gl (uysdn ]

aevoiles CeB cA;L?/rJ%LL)/@b/Jk%W&U@J/

(Dl elad) o) ARl (e oY) o all SIS o il i lad) cladl £ Y4y Gphs el aidliael o)

Ctulll JoU 1 gl | S ot g

...................................................................... U STR
................................................................ Y
{aad1 Towiuidind | aad T |
garrigues Garrigues middle east Middle East
st 8 L ¥ (3l
spain Spain mahmoud Mahmoud
Ll D
barcelona Barcelona everest Everest
LULIJ.! &_\u‘).\ﬂ\
miditerranean Mediterranean independence day Independence Day
Lo gial (an) sl JNY) a5
europe Europe may 25, 2008 May 25, 2008
£T9) D e
amman Amman mustafa Mustafa
jordan Jordan salameh Salameh
QJ‘)Y\ A
tareq Tareq mount Mount
S Jia
madaba Madaba steve fossett Steve Fossett
Lol T 2 i
levant Levant australia Australia
Al a3 Lyl
nabataean Nabataean pacific ocean Pacific Ocean
Ja\_u‘}“ Lﬂ;a\.@\ ja..p.d\
south america South America chile Chile
A siadl 1S yudl (s pnsl) ads
atlantic ocean Atlantic Ocean south africa South Africa
by ) 4 giall Ly )
alps Alps mont blanc tunnel Mont Blanc Tunnel
I Jua S i ga B8
laerdal tunnel Laerdal Tunnel norway Norway
dbj)! 3L @})ﬂ‘
british British italy Italy
Lilday 5 LUy
french French arab Arab
L e
brasilia Brasilia king abdullah King Abdullah
Ll e ¢l
brazil Brazil english English
Juylud BN
brazilian Brazilian japanese Japanese
Gl L
rio de janeiro Rio De Janeiro indian ocean Indian Ocean
sl 62 s gl Jaadll
argentina Argentina
O Y




Editing Writing

SWWINALONA il e = adadl slosl

sysall sy ]

adfise

sVl auxai Jlaw 9 adlll olalSJI

Jde 38 JUal s e

advese advise zaly
ega age B
colleajue coleague kolleague colleague dee )
axercise exarcise ixercise exercise Oy [
enteract interakt interect interact & Jeliyy
lifestile livestyle lifestyle 8l Jaad
outlok autlook outlook Sle Jhay
sekret cecret secret o
sociolise socailise socialice socialise cabiay
successfol saccessful sukcessful successful zab
diserted dezerted decerted deserted ) gaga
enhabitant inhabitent inhapitant inhabitant Sla
overcrowdeng overcrawding overkrowding overcrowding A2 )a
permanantly permenently parmanently permanently alla (5
permanant permenent parmanent permanent Al
phenumenon fenomenon phenomenen phenomenon sl
profitaple profetable brofitable profitable T
publik puplic bublic public iale
serveces serfices cervices services Ciledd
striss stress Jara
rurel roral rural S
trand trind trend oV daa
urpan arban urban Rt
biojraphy beography biografy biography Bhs By
carer caraer kareer career Hga
cookary kookery cookery gkl o
hardwurking herdworking hardworking Agiaa
rapair ripair repair ey
braeker preaker breaker ahas
exhaussion exhaostion exhaustion Sl
challinge challenje gallenge challenge AN
condetion condision kondition condition da
elate alite elite P
expedision expepition exbedition expedition idaa
frostbite frostpite frostbite ia i
insbire enspire anspire inspire pean
rekord record Jas
semmit summet Sammit summit id
construcsion constraction konstruction construction el
dam s
desrupt disrapt disrubt disrupt =5
difert divert Js~




Editing Writing

SWVINAEONA Uil Cnae + adallslosl

sygall (mygl ]

furcibly forsibly forciply forcibly 5 58l
ineficiency ineffeciency anefficiency inefficiency AN
luck lock e 2 ) J&8
parpose purbose burpose purpose Uae
recervoir riservoir reserfoir reservoir O~
tichnology technolojy teknology technology [EEPAPE
inhabitent inhabetant enhabitant inhabitant (Shis / aia
elert alart alert L,
concintrate cuncentrate koncentrate concentrate S
depreved diprived debrived deprived (e p
irretable irritaple arritable irritable il g s
mody moudy muody moody it
recharje recharge i Bale
shalluw shallow W TLEN
imbassy empassy embassy 5 ldw
regulete rigulate regulate abi
sictor sektor sector glad
specifik specivic sbecific specific g
fracsion fraktion fraction £ >
institusion enstitution institution A ga
klay clay b
skalled skilled 2l
artisanz artizan artisan(s) LB
mosaik mosaic et
pottary puttery bottery pottery Jiaé
altetude altatude altitode altitude gl
barner burner M 9o
caben kabin cabin W[5 aa
constent konstant constant St
halium helium asbed Sle
sulo solo A g
ancredible incredable inkredible incredible Buay
raduced riduced reduced Uaddia
riduce riduce reduce Ul
frieght Freight O
Cumplete Comblete komplete complete JeS
treffic traffik traffic BEBY
fiew view Hhi
ewake aweke awake L,
‘.‘ VAR

el Teacilt Rl S

<t

Eesiil chnS copm
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[Y )]
capital cities hose government offices as well as imbassies from other countries. They
are also financial centers containing banks and other institusions.

1. 2. 3.

[Y+))]
rural depopulation is a phenomenen which can lead to overkroding in cites as well as
for fewer people in country areas.

1. 2. 3.

[Y+)Y]
mahmoud became the first Jordanian man to reach the sammit of mount Everest. Apart
from exhoustion an little frostpite, he was in good health.

1. 2. 3. 4.

[Y:)Y]
madaba is called the city of mosaiks. It was a major trading center for pottary
made by skilled local artisanz.

1. 2. 3. 4.

[Y+)Y]
many people who canno t koncentrate and are moudy or irretable need more sleep.
1. 2. 3. 4.

[Y )Y

experiments have shown that, apart from exhaostion, drivers can easily fall asleep in
tunnels because the fiew never changes there is nothing to keep them aweke.

1. 2. 3. 4.

[Y+)€]
The Jordanian Adventure Club is planning a challenjing and arduous expedision to the
sammit of Mount everest.
1. 2. 3. 4.

[Y+)€]
Doctors advice that regular exircise and a healthy diet are crucial to our well- being.
Furthermore, it is important to interakt with people of all ages and keep a positive
outlock on life.

1. 2. 3. 4.

[v1e]
The king talal Dam is a large dam in the hills of northern Jordan. It was started in 1971,
with the original construcsion being combleted in 1978. The main perpose of the dam is
to store winter rain.
1. 2. 3. 4.




